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44 | B OFFEN 9/ 0.01] 12 0 10 B |7 FA L ALEXTR — 0.05/ 12 0
45 | B |vmky FTFL 6/ 0.02] 12 0 11 B |7z FF ANk — 0.02| 12 0
46 | BT~ (CAT) 30 0,02 12 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 12 0
47 | B UAK ALY 20/ 0.01] 12 2/ 0.06 13 B |72 FAoAxY AR - 0.05/ 12 0
48 | VA bxZ—}h 50/ 0.02 12 0 4| W |ZxrFA oA — 0.02| 12 0
49 | B (VAU 30, 0.03 12 0 15| WE | 7XIRAFFY - 0.02| 12 0
50 | B PAENL—| 30 0,02 12 0 16 | W |7oETFRFToE — 0.02| 12 0
51 | hih XA 7Y/ v 5/ 0.01] 12 0 17 B |~I74%F — 0.02] 12 0
52 | MK KA b 800/ 0.01| 12 1] 0.02
53 | M | F T A 20 0.03 12 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03/ 12 0 . - R o
55 | Ml FAT 7 F— b AFIL 3000 0.01] 12 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 12 0 INEY ST A= 2000 0.01] 12 2| 0.04
57 | ® T LT AT (MBPMC) 20/ 0.01] 12 0 2 [ hE vV ALTEY 2000 0.03] 12 0
58 | B hUZBEL 6/ 0.01] 12 0 3 HmE Y/ TTTY 600 0.1 12 0
59 | i MYz madk (DEP) 5/ 0.05 12 0 4 | HME|7IAMEL 20/ 0.01 12 0
60 |HER U T —L 80/ 0.01 12 1] 0.02 5 | M | AXIFKR 2 0.8 12 0
61 | ®W  RUTALTYL 60/ 0.02] 12 0 6 |HmE TYXRRAREY 500 0.01] 12 0
62 | B 7RI R 30, 0.03 12 0 T W A Tavty 300 0.05 12 0
63 | B EXmRRA 0.9/ 0.02] 12 0 8 | B vFamyr 300 0.01] 12 0
64 | B EIFTT 40 0.02] 12 0 9 | B F=Arnu—i 2000 0.01] 12 0
65 | ® BTV UR—k (T L—}) 20/ 0.01] 12 0 10 & e TayAFL 300 0.01] 12 1 0.72
66 | EUXFT=UTFAFU 2/ 0.01] 12 0 11| R |7V b T =1 200/ 0.02] 12 0
67 | B BUTFHLT 20/ 0.01] 12 0 12 | B[R XY K (SAP) 100, 0.03] 12 0
68 | M Eo¥or 40/ 0.02] 12 3 1.9 13 # | RerrTRYAFL 500 0.01 12 0
69 | hif 74 = 0.5 0.005 12 0
70 |®ER 7 == haFA (MEP) 30 0,02 12 0
71 | HE = T HLT (BPMC) 30, 0.01 12 1 0.01 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.0l 12 0 SRR P AR 1 0.01 0.05
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ER NS
FRENHE A

ES 2 VSN -2 S _ (ng/L) (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc
1| # |,3-Yraaray (D-D) 50 0.1 12 0 73 | M | 7= hx— b (PAP) 71 0.03) 12 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 12 0 T4 | HE T IAR 100 0.02| 12 1 012
3 | B |2,4-D (2,4-PA) 30/ 0.02] 12 20 0.14 75| B | THsu—L 30/ 0.02) 12 1 0.30
4 | i EPN 40 0.02) 12 0 76 | KO THIKR 20/ 0.02 12 0
5 | L |MCPA 5/ 0.02] 12 0 BN 1A=L Pl 20/ 0.05 12 0
6 | B TvaTAh 2000 0.01 12 0 8| B | TSLFIFru— 50/ 0.02 12 1 0.51
7 WM | TET=— b 6 0.8 12 0 9| B |TevI Ry 90| 0.04 12 0
8 | W T hIVU 10/ 0.05] 12 0 80 Juraty—iu 50/ 0.01 12 0
9 | B 7T=upkR 30 0,03 12 0 8l | B |FmbEHIR 50/ 0.02 12 0
10, B | 797ua—n 30, 0.02 12 0 82 | Ml | Fm SV — 50/ 0.1 12 0
11| 8 Y FA4r 8/ 0.08 12 1] 0.37 83 | ML | T eI F R 100, 0.02| 12 4 2.2
12 B fYT7xrERR 1 o001 12 0 84 ~NJ I 20/ 0.01 12 3 0.02
13| W A4V 7aknrr (MIPC) 100 0.02] 12 0 85 | i | ~Nrvrmy 100/ 0.03] 12 0
14 | sk A Y T uFAT 2 (IPT) 3000 0.02] 12 1] 0.07 86 | B NV TxFuS 40 0.01] 12 1 0.01
15 @ A7~k (1BP) 90/ 0.02] 12 2 4.2 87 | B Ry xY 2000 0.01] 12 5/ 0.84
16 mE A/ 0800 6/ 0.06] 12 0 88 | Bk N TF 4 ALY v 3000 0.02] 12 0
17| ® S8 )77 9 0.05 12 0 89 | W (N T T INT 40/ 0.05 12 0
18 ¥ =2xSuhrT 300 0.02 12 0 90 | B RUTATYL (RREVY) 100 0.02) 12 0
19 TF 4T 2 RA (VT xR A, 6 005 12 0 91 | &V7V?—b 70/ 0.01 12 0
EDDP) 92 | # |HRAFTE— b 3] 0.02) 12 0
20 | M@ = h7zrFays R 80/ 0.05 12 0 93 | W (~wTFAL (wT V) 50/ 0.03 12 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 12 0 94 | T | A= 7wy (MCPP) 50/ 0.01 12 1 0.02
22 | TURALT Y (RUVIEY) 100 0.03] 12 0 95 | W[ AV I 30/ 0.01 12 0
23 | M | AF U8R (HFEER) 30/ 0.05 12 0 96 | R | A X TFXF L 60| 0.04 12 0
24 | AVY R brEY 100/ 0.02| 12 20 0.07 97 | W | AFHF AL (DMTP) 40 0.02] 12 0
25 | o XHARA 0.6/ 0.01 12 0 98 | B AFNAKA L 30/ 0.03 12 0
26 | B BTz A ho— 8 0.01] 12 2 1.6 99 | M A RI /A bBEY 400 0.01 12| 12 3.7
27 | H AU L (NAC) 50, 0.01 12 0 100 ® [ ARY TV 30/ 0.01 12 0
28 | M AT TR R 40/ 0.01 12 1] 0.02 101 8 A7)ty b 20/ 0.01 12 2| 0.91
29 | X IR T T 5/ 0.01] 12 1] 0.01 102 | i A7 m=)v 100, 0.05/ 12 0
30 | ¥/ 27T (ACN) 5/ 0.01] 12 1] 0.19 103 B €Y x—h 5 0.02) 12 0
31 Xy L 3000 0.1 12 0
32| B sIjnmy 30, 0.05 12 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 12 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 12/ 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | sEAEYRRA 30,02 12 0 1| B EPNAFY - 0.1 12 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 12 0 2 | B AYX T AR — 0.1/ 12 0
37 | BTV 40 0.01 12 0 3| B AV TR AFRY - 0.02| 12 0
38 | | vT7 /A (CYAP) 3 0.0l 12 0 4 X = RALT=— ] — 0.03] 12 0
39 | B Yumy (DOMU) 20/ 0.01] 12 0 5 | & |72 AFLY U (AMPA) — 0.5 12 0
40 | YZu~=/L (DBN) 100 0.01] 12 0 6 | 7 |ONP-T 2 /{K — 0.05/ 12 0
41 H [z mEARA (DDVP) 8l 0.08 12 0 T B | saAEYRALF Y — 0.03] 12 0
42| ¥ (Y7 Iv b 5 0.05 12 0 8 | M HATV I UAXY — 0.0l 12 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 12 0 9 | B |Tx=btuFtrAFI — 0.01] 12 0
44 | B OFFEN 9/ 0.01] 12 0 10 B |7 FA L ALEXTR — 0.05/ 12 1 4.3
45 | B |vmky FTFL 6/ 0.02] 12 0 11 B |7z FF ANk — 0.02| 12 1 0.21
46 | BT~ (CAT) 30 0,02 12 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 12 0
47 | B UAK ALY 20/ 0.01] 12 5 0.25 13 B |72 FAoAxY AR - 0.05/ 12 0
48 | VA bxZ—}h 50/ 0.02 12 0 4| W |ZxrFA oA — 0.02| 12 1 0.05
49 | B (VAU 30, 0.03 12 0 15| WE | 7XIRAFFY - 0.02| 12 0
50 | B PAENL—| 30 0,02 12 0 16 | W |7oETFRFToE — 0.02| 12 0
51 | hih XA 7Y/ v 5/ 0.01] 12 1] 0.01 17 B |~I74F — 0.02] 12 0
52 | MK KA b 800/ 0.01| 12 30 0.15
53 | M | F T A 20 0.03 12 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03/ 12 0 . - R o
55 | Ml FAT 7 F— b AFIL 3000 0.01] 12 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 12 0 INEY ST A= 2000 0.01] 12 1 0.29
57 | ® T LT AT (MBPMC) 20/ 0.01] 12 0 2 [ hE vV ALTEY 2000 0.03] 12 0
58 | B hUZBmEL 6/ 0.01] 12 0 3 HmE Y/ TTTY 600 0.1 12 1 1.1
59 | i MYz madk (DEP) 5/ 0.05 12 0 4 | HME|7IAMEL 20/ 0.01 12 0
60 |HER U T —L 80/ 0.01 12 3 0.07 5 | M | AXIFKR 2 0.8 12 0
61 | ®W  RUTALTYL 60/ 0.02] 12 0 6 |HmE TYXRRAREY 500 0.01] 12 0
62 | B 7RI R 30, 0.03 12 0 T W A Tavty 300 0.05 12 0
63 | B EXmRRA 0.9/ 0.02] 12 0 8 | B vFamyr 300 0.01] 12 0
64 | B EIFTT 40 0.02] 12 0 9 | B F=Arnu—i 2000 0.01] 12 0
65 | ® BTV UR—k (T L—}) 20/ 0.01] 12 0 10 & e TayAFL 300 0.01] 12 0
66 | EUXFT=UTFAFU 2/ 0.01] 12 0 11| R |7V b T =1 200/ 0.02] 12 0
67 | B BUTFHLT 20/ 0.01] 12 0 12 | B[R XY K (SAP) 100, 0.03] 12 0
68 | M Eo¥or 40/ 0.02] 12 7 3.0 13 # | RerrTRYAFL 500 0.01 12 0
69 | hif 74 = 0.5 0.005 12 0
70 |®ER 7 == haFA (MEP) 30 0,02 12 3 0.07
71 | HE = T HLT (BPMC) 30, 0.01 12 1 3.2 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.0l 12 1 4.4 SRR P AR 1 0.01 1.1
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FPReJ IR

FFEF)IF H 2
ES 2 VSN -2 S ___ (ng/L) _ (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50 0.1 12 0 73 | M | 7= hx— b (PAP) 71 0.03) 12 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 12 0 T4 | HE T IAR 100 0.02| 12 0
3 | B |2,4-D (2,4-PA) 30/ 0.02] 12 0 75| B | THsu—L 30/ 0.02) 12 1 012
4 | i EPN 40 0.02) 12 0 76 | KO THIKR 20/ 0.02 12 0
5 | L |MCPA 5/ 0.02] 12 1] 0,12 BN 1A=L 20/ 0.05 12 0
6 | B TvaTAh 2000 0.01 12 0 8| B | TSLFIFru— 50/ 0.02 12 1 0.40
7 WM | TET=— b 6 0.8 12 0 9| B |TevI Ry 90| 0.04 12 0
8 | W T hIVU 10/ 0.05] 12 0 80 Juraty—iu 50/ 0.01 12 0
9 | B 7T=upkR 30 0,03 12 0 8l | B |FmbEHIR 50/ 0.02 12 4 1.7
10, B | 797ua—n 30, 0.02 12 0 82 | Ml | Fm SV — 50/ 0.1 12 0
11| 8 Y FA4r 8/ 0.08 12 0 83 | ML | T mETF R 100, 0.02| 12 4] 0.04
12 B fYT7xrERR 1 o001 12 0 84 ~NJ I 20/ 0.01 12 1 0.02
13| W A4V 7aknrr (MIPC) 100 0.02] 12 0 85 | i | ~Nrvrmy 100/ 0.03] 12 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 12 0 86 | B NV TxFuS 40 0.01] 12 0
15 @ A7~k (1BP) 90/ 0.02] 12 1] 0,12 87 | B Ry xY 2000 0.01] 12 2| 0.92
16 mE A/ 0800 6/ 0.06] 12 0 88 | Bk N TF 4 ALY v 3000 0.02] 12 0
17| ® S8 )77 9 0.05 12 0 89 | W (N T T INT 40/ 0.05 12 0
18 ¥ =2xSuhrT 300 0.02 12 0 90 | B RUTATYL (RREVY) 100 0.02) 12 0
19 TF 4T 2 RA (VT xR A, 6 005 12 0 91 | &V7V?—b 70/ 0.01 12 0

EDDP) 92 | # |HRAFTE— b 3] 0.02) 12 0
20 | M@ = h7zrFays R 80/ 0.05 12 0 93 | W (~wTFAL (wT V) 50/ 0.03 12 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 12 0 94 | B | Aza7w v (MCPP) 50/ 0.01 12 0
22 | TURALT Y (RUVIEY) 100 0.03] 12 0 95 | W[ AV I 30/ 0.01 12 0
23 | M | AF U8R (HFEER) 30/ 0.05 12 0 96 | R | A X TFXF L 60| 0.04 12 1 0.04
24 | AVY R brEY 100/ 0.02| 12 1/ 0.06 97 | W | AFHF AL (DMTP) 40 0.02] 12 0
25 | o XHARA 0.6/ 0.01 12 0 98 | B AFNAKA L 30/ 0.03 12 0
26 | B BTz A ho— 8 0.01] 12 2 1.7 99 | M A RI /A bBEY 40/ 0.01 12| 11 3.1
27 | H AU L (NAC) 50, 0.01 12 0 100 ® [ ARY TV 30/ 0.01 12 0
28 | M AT TR R 40/ 0.01 12 0 101 B [ A7=FEv bk 20/ 0.01 12 0
29 | X IR T T 5/ 0.01] 12 0 102 | i A7 m=)v 100, 0.05/ 12 0
30 | ¥/ 27T (ACN) 5/ 0.01] 12 1] 0.02 103 B €Y x—h 5 0.02) 12 0
31 Xy L 3000 0.1 12 0
32| B sIjnmy 30, 0.05 12 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 12 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 12/ 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | sEAEYRRA 30,02 12 0 1| B EPNAFY - 0.1 12 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 12 0 2 | B AYX T AR — 0.1/ 12 0
37 | BTV 40 0.01 12 0 3| B AV TR AFRY - 0.02| 12 0
38 | | vT7 /A (CYAP) 3 0.0l 12 0 4 X = RALT=— ] — 0.03] 12 0
39 | B Yumy (DOMU) 20/ 0.01] 12 0 5 | & |72 AFLY U (AMPA) — 0.5 12 0
40 | YZu~=/L (DBN) 100 0.01] 12 0 6 | 7 |ONP-T 2 /{K — 0.05/ 12 0
41 H [z mEARA (DDVP) 8l 0.08 12 0 T B | saAEYRALF Y — 0.03] 12 0
42| ¥ (Y7 Iv b 5 0.05 12 0 8 | M HATV I UAXY — 0.0l 12 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 12 0 9 | Bt | Tx=tuFtrAFs — 0.01] 12 0
44 | B OFFEN 9/ 0.01] 12 0 10 B |7 FA L ALEXTR — 0.05/ 12 0
45 | B |vmky FTFL 6/ 0.02] 12 0 11 B |7z FF ANk — 0.02| 12 0
46 | BT~ (CAT) 30 0,02 12 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 12 0
47 | B UAK ALY 20/ 0.01] 12 3 0.18 13 B |72 FAoAxY AR - 0.05/ 12 0
48 | VA bxZ—}h 50/ 0.02 12 0 4| W |ZxrFA oA — 0.02| 12 0
49 | B (VAU 30, 0.03 12 0 15| WE | 7XIRAFFY - 0.02| 12 0
50 | B PAENL—| 30 0,02 12 0 16 | W |7oETFRFToE — 0.02| 12 0
51 | hih XA 7Y/ v 5/ 0.01] 12 1] 0.02 17 B |~I74F — 0.02] 12 0
52 | MK KA b 800/ 0.01| 12 20 0.17
53 | M | F T A 20 0.03 12 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03/ 12 0 . - R o
55 | Ml FAT 7 F— b AFIL 3000 0.01] 12 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 12 0 INEY ST A= 2000 0.01] 12 2 0.13
57 | ® T LT AT (MBPMC) 20/ 0.01] 12 0 2 [ hE vV ALTEY 2000 0.03] 12 0
58 | B hUZBmEL 6/ 0.01] 12 0 3 HmE Y/ TTTY 600 0.1 12 1| 0.80
59 | i MYz madk (DEP) 5/ 0.05 12 0 4 | HME|7IAMEL 20/ 0.01 12 1 0.01
60 |HER U T —L 80/ 0.01 12 2/ 0.06 5 | M | AXIFKR 2 0.8 12 0
61 | ®W  RUTALTYL 60/ 0.02] 12 0 6 |HmE TYXRRAREY 500 0.01] 12 0
62 | B 7RI R 30, 0.03 12 0 T W A Tavty 300 0.05 12 0
63 | B EXmRRA 0.9/ 0.02] 12 0 8 | B vFamyr 300 0.01] 12 0
64 | B EIFTT 40 0.02] 12 0 9 | B F=Arnu—i 2000 0.01] 12 0
65 | ® BTV UR—k (T L—}) 20/ 0.01] 12 0 10 B o7 sAFL 300 0.01] 12 2 7.0
66 | EUXFT=UTFAFU 2/ 0.01] 12 0 11| R |7V b T =1 200/ 0.02] 12 0
67 | B BUTFHLT 20/ 0.01] 12 0 12 | B[R XY K (SAP) 100, 0.03] 12 0
68 | M Eo¥or 40/ 0.02] 12 9 1.9 13 # | RerrTRYAFL 500 0.01 12 1 0.02
69 | hif 74 = 0.5 0.005 12 0
70 |®ER 7 == haFA (MEP) 30 0,02 12 2/ 0.05
71 | HE = T HLT (BPMC) 30, 0.01 12 1] 0.04 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.0l 12 0 SRR P AR 1 0.01 0.33
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F eI IR

(ESIREVISZ )TV
ES 2 VSN -2 S ___ (ng/L) _ (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50 0.1 34 0 73 | M | 7= hx— b (PAP) 7| 0.03] 34 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 34 0 T4 | HE T IAR 100, 0.02| 34 0
3 | B |2,4-D (2,4-PA) 30/ 0.02) 34 0 75| B | THsu—L 30/ 0.02) 34 0
4 | i EPN 40 0.02) 34 0 76 | KO THIKR 20/ 0.02 34 0
5 | L |MCPA 5/ 0.02] 34 0 BN 1A=L Pl 20/ 0.05 34 0
6 | B TvaTAh 2000 0.01| 34 0 8| B | TSLFIFru— 50/ 0.02 34 3 0.13
7 WM | TET=— b 6/ 0.8 34 0 9| B |TevI Ry 90| 0.04 34 0
8 | W T hIVU 10/ 0.05| 34 0 80 Juraty—iu 50/ 0.01 34 0
9 | B 7T=upkR 3 0.03 34 0 8l | B |FmbEHIR 50/ 0.02 34 15/ 0.18
10, B | 797ua—n 30 0.02 34 3/ 0.04 82 | Ml FmNFV— 50/ 0.1 34 0
11| 8 Y FA4r 8/ 0.08 34 0 83 | ML | T mETF R 1000 0.02| 34| 14| 0.67
12 B fYT7xrERR 1| 0.01 34 0 84 ~NJ I 20/ 0.01, 34 11| 0.06
13| W A4V 7aknrr (MIPC) 10/ 0.02] 34 0 85 | i | ~Nrvrmy 100/ 0.03| 34 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 34 0 86 | B NV TxFuS 40 0.01] 34 0
15 @ A7~k (1BP) 90| 0.02| 34 5 0.07 87 | B Ry xY 2000 0.01| 34 4/ 0.19
16 mE A/ 0800 6/ 0.06] 34 0 88 | Bk N TF 4 ALY v 300/ 0.02] 34 0
17| ® S8 )77 9/ 0.05 34 0 89 | W (N T T INT 40/ 0.05 34 0
18 ¥ =2xSuhrT 30 0.02 34 0 90 | B RUTATYL (RREVY) 10/ 0.02| 34 0
19 TF 4T 2 RA (VT xR A, 6 005 34 0 91 | &V7V?—b 70/ 0.01 34 0

EDDP) 92 | # |HRAFTE— b 30 0,020 34 0
20 | M@ = h7zrFays R 80| 0.05 34 0 93 | W (~wTFAL (wT V) 50/ 0.03 34 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 34 0 94 | B | Aza7w v (MCPP) 50/ 0.01 34 0
22 | TURALT Y (RUVIEY) 10 0.03] 34 0 95 | W[ AV I 30/ 0.01 34 0
23 | M | AF U8R (HFEER) 30/ 0.05 34 0 96 | R | A X TFXF L 60| 0.04 34 0
24 | AVY R brEY 100/ 0.02| 34 1/ 0.05 97 | W | AFHF AL (DMTP) 40 0.02] 34 0
25 | o XHARA 0.6/ 0.01 34 0 98 | B AFNAKA L 30/ 0.03 34 0
26 | B BTz A ho— 8 0.01] 34 4| 0.03 99 | M A RI /A bBEY 40/ 0.01 34| 34 1.4
27 | H AU L (NAC) 50 0.01 34 0 100 ® [ ARY TV 30/ 0.01 34 0
28 | M AT TR R 40/ 0.01| 34 0 101 B [ A7=FEv bk 20/ 0.01 34 4] 0.19
29 | X IR T T 5/ 0.01] 34 0 102 | i A7 m=)v 100, 0.05| 34 0
30 | ¥/ 27T (ACN) 5/ 0.01] 34 1/ 0.05 103 B €Y x—h 5 0.02) 34 0
31 Xy L 3000 0.1 34 0
32| B sIjnmy 30, 0.05 34 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 34 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 34 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | sEAEYRRA 3 0.02] 34 0 1| B EPNAFY - 0.1 34 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 34 0 2 | B AYX T AR — 0.1 34 0
37 | BTV 40 0.01 34 0 3| B AV TR AFRY - 0.02| 34 0
38 | | vT7 /A (CYAP) 3 0.0l 34 0 4 X = RALT=— ] — 0.03] 34 0
39 | B Yumy (DOMU) 20/ 0.01| 34 1 0.01 5 | & |72 AFLY U (AMPA) — 0.5 34 0
40 | YZu~=/L (DBN) 100 0.01| 34 0 6 | 7 |ONP-T 2 /{K — 0.05/ 34 0
41 H [z mEARA (DDVP) 8/ 0.08 34 0 T B | saAEYRALF Y — 0.03| 34 0
42| ¥ (Y7 Iv b 5 0.05 34 0 8 | M HATV I UAXY — 0.01| 34 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 34 0 9 | Bt | Tx=tuFtrAFs — 0.01| 34 0
44 | B OFFEN 9/ 0.01] 34 0 10 B |7 FA L ALEXTR — 0.05/ 34 0
45 | B |vmky FTFL 6/ 0.02] 34 0 11 B |7z FF ANk — 0.02| 34 0
46 | BT~ (CAT) 3 0,02 34 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 34 0
47 | B UAK ALY 200 0.01| 34 16 0.10 13 B |72 FAoAxY AR - 0.05/ 34 0
48 | VA bxZ—}h 50/ 0.02 34 0 4| W |ZxrFA oA — 0.02| 34 0
49 | B (VAU 30, 0.03 34 0 15| WE | 7XIRAFFY - 0.02| 34 0
50 | B PAENL—| 3 0.02] 34 0 16 | W |7oETFRFToE — 0.02| 34 0
51 | hih XA 7Y/ v 5/ 0.01] 34 1] 0.02 17 B |~I74F — 0.02) 34 0
52 | MK KA b 800/ 0.01| 34 8 0.19
53 | M | F T A 20/ 0.03 34 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03| 34 0 . - R o
55 | Ml FAT 7 F— b AFIL 3000 0.01 34 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 34 0 INEY ST A= 2000 0.01| 34 3 0.02
57 | ® T LT AT (MBPMC) 20/ 0.01| 34 0 2 [ hE vV ALTEY 2000 0.03] 34 2| 0.09
58 | B hUZBmEL 6/ 0.01] 34 0 3 HmE Y/ TTTY 600/ 0.1 34 1 0.30
59 | i MYz madk (DEP) 5/ 0.05 34 0 4 | HME|7IAMEL 20/ 0.01 34 0
60 |HER U T —L 80/ 0.01| 34 4| 0.01 5 | M | AXIFKR 2/ 0.8 34 0
61 | ®W  RUTALTYL 60/ 0.02] 34 0 6 |HmE TYXRRAREY 500/ 0.01| 34 0
62 | B 7RI R 30, 0.03 34 0 T W A Tavty 300/ 0.05 34 0
63 | B EXmRRA 0.9/ 0.02] 34 0 8 | B vFamyr 300/ 0.01| 34 0
64 | B EIFTT 4/ 0.02| 34 0 9 | B F=Arnu—i 200/ 0.01| 34 0
65 | ® BTV UR—k (T L—}) 20/ 0.01| 34 0 10 B o7 sAFL 300/ 0.01] 34 6 3.5
66 | EUXFT=UTFAFU 2/ 0.01] 34 0 11| R |7V b T =1 200/ 0.02] 34 0
67 | B BUTFHLT 20/ 0.01| 34 0 12 | B[R XY K (SAP) 100, 0.03| 34 0
68 | M Eo¥or 40/ 0.02) 34 18 1.3 13 # | RerrTRYAFL 500/ 0.01| 34 4/ 0.10
69 | hif 74 = 0.5 0.005 34 0
70 |®ER 7 == haFA (MEP) 3 0.02] 34 8 0.13
71 | HE = T HLT (BPMC) 30 0.01 34 4/ 0.03 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01] 34 0 SRR P AR 1 0.01 0.08

e RIS T, o A B RTEA. B BRELAD R RHEREAA R AR, RR O RRIRFEEEAL. BE Bk, T TR RERT,

R N I

R FIRIEA ) &35
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F eI IR
B R GEE R ALK

ES 2 VSN -2 S _ (ng/L) (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc
1| # |,3-Yraaray (D-D) 50 0.1/ 16 0 73 | | 7= hm— 1k (PAP) 71 0.03] 16 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 16 0 T4 | HE T IAR 100 0.02| 16 0
3 | B |2,4-D (2,4-PA) 30/ 0.02] 16 0 75| B | THsu—L 30/ 0.02) 16 0
4 | i EPN 40 0.02] 16 0 76 | KO THIKR 20/ 0.02 16 0
5 | L |MCPA 5/ 0.02] 16 0 BN 1A=L Pl 20/ 0.05 16 0
6 | B TvaTAh 200/ 0.01| 16 0 8| B | TSLFIFru— 50/ 0.02 16 2| 0.06
7 WM | TET=— b 6 0.8 16 0 9| B |TevI Ry 90| 0.04 16 0
8 | W T hIVU 10/ 0.05] 16 0 80 Juraty—iu 50/ 0.01 16 0
9 | B 7T=upkR 3 0.03 16 0 8l | B |FmbEHIR 50/ 0.02 16 0
10, B | 797ua—n 30, 0.02 16 0 82 | Ml | Fm SV — 50 0.1 16 0
11| 8 Y FA4r 8/ 0.08 16 0 83 | ML | T mETF R 100, 0.02| 16 9| 0.38
12 B fYT7xrERR 1l o001 16 0 84 ~NJ I 20/ 0.01 16 1 0.01
13| W A4V 7aknrr (MIPC) 10/ 0.02] 16 0 85 | i | ~Nrvrmy 100/ 0.03| 16 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 16 0 86 | B NV TxFuS 40 0.01] 16 0
15 @ A7~k (1BP) 90/ 0.02| 16 0 87 | B Ry xYL 2000 0.01| 16 1 0.15
16 mE A/ 0800 6/ 0.06] 16 0 88 | Bk N TF 4 ALY v 300/ 0.02] 16 0
17| ® S8 )77 9 0.05 16 0 89 | W (N T T INT 40/ 0.05 16 0
18 ¥ =2xSuhrT 30, 0.02 16 0 90 | B RUTATYL (RREVY) 10 0.02] 16 0
19 TF 4T 2 RA (VT xR A, 6 005 16 0 91 | &V7V?—b 70/ 0.01 16 0
EDDP) 92 | # |HRAFTE— b 30 0.020 16 0
20 | M@ = h7zrFays R 80/ 0.05 16 0 93 | W (~wTFAL (wT V) 50/ 0.03 16 0
21 TRYTDTY = (Zr AV =)L) 4 0.02] 16 0 94 | T | A= 7wy (MCPP) 50/ 0.01 16 0
22 | mURALT 7Y (RyYVIEY) 100 0.03] 16 0 95 | W[ AV I 30/ 0.01 16 0
23 | M | AF U8R (HFEER) 30/ 0.05 16 0 96 | R | A X TFXF L 60/ 0.04 16 0
24 | AVY R brEY 100, 0.02| 16 0 97 | | XFHTF AL (DMTP) 4/ 0.02] 16 0
25 | o XHARA 0.6/ 0.01] 16 0 98 | B AFNAKA L 30/ 0.03 16 0
26 | B BTz A ho— 8 0.01] 16 0 99 | M A RI /A bBEY 40/ 0.01, 16/ 16/ 0.29
27 | H AU L (NAC) 50, 0.01 16 0 100 ® [ ARY TV 30/ 0.01 16 0
28 | M AT TR R 40/ 0.01| 16 0 101 # A7=Fk&v b 20/ 0.01 16 0
29 | X IR T T 5/ 0.01] 16 0 102 | i A7 m=)v 100, 0.05| 16 0
30| B X273 (ACN) 5/ 0.01] 16 0 103 B €Y x—h 5 0.02] 16 0
31 Xy L 3000 0.1/ 16 0
32| B sIjnmy 30, 0.05 16 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 16 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 16 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | Wz YRA 3 0.02) 16 0 1| B EPNAFY - 0.1 16 0
36 | @ ZmuXa=, (TPN) 50 0.02 16 0 2 | B AYX T AR — 0.1 16 0
37 | BTV 4, 0.01 16 0 3| B AV TR AFRY - 0.02| 16 0
38 | | vT7 /A (CYAP) 3 0.0l 16 0 4 X = RALT=— ] — 0.03| 16 0
39 | B Yumy (DOMU) 20/ 0.01] 16 0 5 | & |72 AFLY U (AMPA) — 0.5 16 0
40 | YZu~=/L (DBN) 100 0.01] 16 0 6 | 7 |ONP-T 2 /{K — 0.05/ 16 0
41 H [z mEARA (DDVP) 8/ 0.08 16 0 T B | saAEYRALF Y — 0.03] 16 0
42| ¥ (Y7 Iv b 5 0.05 16 0 8 | M HATV I UAXY — 0.0l 16 0
43 H [PRAALK Y (ZFAFARA ) 4 0.02] 16 0 9 | B |Tx=btuFtrAFI — 0.01| 16 0
44 | B OFFEN 9/ 0.01] 16 0 10| B |72 FAVANEXYR — 0.05/ 16 0
45 | B |vmky FTFL 6/ 0.02] 16 0 11 B |7z FF ANk — 0.02| 16 0
46 | BT~ (CAT) 3 0.02] 16 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 16 0
47 | B UAK ALY 20/ 0.01] 16 3 0.05 13 B |72 FAoAxY AR - 0.05 16 0
48 | VA bxZ—}h 50 0.02 16 0 4| W |ZxrFA oA — 0.02| 16 0
49 | B (VAU 30, 0.03 16 0 15| W |72 IRAFXRY - 0.02| 16 0
50 | L PAENL—Fh 30 0.02] 16 0 16 | W |7oETFRFToE — 0.02| 16 0
51 | hih XA 7Y/ v 5/ 0.01] 16 0 17 B |~I74%F — 0.02) 16 0
52 | MK KA b 800/ 0.01| 16 2/ 0.06
53 | M | F T A 20 0.03 16 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03| 16 0 . o R o
55 | Ml FAT 7 F— b AFIL 300/ 0.01] 16 0 i e A HERE ﬁ% lﬁ{ﬁ( Eg SRR
56 | L FARUHLT 20/ 0.02| 16 0 IR IR AN 2000 0.01| 16 0
57 | ® T LT AT (MBPMC) 20/ 0.01| 16 0 2 [ hE vV ALTEY 2000 0.03] 16 0
58 | B hUZBEL 6/ 0.01] 16 0 3 HmE Y/ TTTY 600 0.1 16 0
59 | i MYz madk (DEP) 5/ 0.05 16 0 4 | HE | 7FAPEL 20/ 0.01 16 0
60 |HER U T —L 80/ 0.01| 16 0 5 | M | AXIFKR 2/ 0.8 16 0
61 | ®W  RUTALTYL 60/ 0.02| 16 0 6 | ME | TYXFIRrE Y 500/ 0.01] 16 0
62 | B 7RI R 30, 0.03 16 0 T W A Tavty 300/ 0.05/ 16 0
63 | B EXmRRA 0.9/ 0.02] 16 0 8 | B vFamyr 300/ 0.01] 16 0
64 | B EIFTT 4/ 0.02] 16 0 9 | B F=Arnu—i 2000 0.01| 16 0
65 | K 7V Ux—hk (EZ7YL—}) 20/ 0.01| 16 0 10| B g ALTBY ATV 300 0.01 16 4 1.0
66 | EUXFT=UTFAFU 2/ 0.0l 16 0 11| R |7V b T =1 200/ 0.02| 16 0
67 | B BUTFHLT 20/ 0.01] 16 0 12 | B[R XY K (SAP) 100, 0.03| 16 0
68 | M Eo¥or 40/ 0.02| 16 5 0.07 13 # | RerrTRYAFL 500 0.01| 16 2| 0.05
69 | hif 74 = 0.5 0.005 16 0
70 |®ER 7 == haFA (MEP) 30 0,02 16 0
71 | HE = T HLT (BPMC) 30, 0.01 16 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01] 16 0 SRR P AR 1 0.01 0.01
e RIS T, o A B RTEA. B BRELAD R RHEREAA R AR, RR O RRIRFEEEAL. BE Bk, T TR RERT,
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F eI IR

I KRGk
ES 2 VSN -2 S ___ (ng/L) _ (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50 0.1 34 0 73 | M | 7= hx— b (PAP) 7| 0.03] 34 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 34 0 T4 | HE T IAR 100, 0.02| 34 0
3 | B |2,4-D (2,4-PA) 30/ 0.02) 34 0 75| B | THsu—L 30/ 0.02) 34 0
4 | i EPN 40 0.02) 34 0 76 | KO THIKR 20/ 0.02 34 0
5 | L |MCPA 5/ 0.02] 34 0 BN 1A=L Pl 20/ 0.05 34 0
6 | B TvaTAh 2000 0.01| 34 0 8| B | TSLFIFru— 50/ 0.02 34 0
7 WM | TET=— b 6/ 0.8 34 0 9| B |TevI Ry 90| 0.04 34 0
8 | W T hIVU 10/ 0.05| 34 0 80 Juraty—iu 50/ 0.01 34 0
9 | B 7T=upkR 3 0.03 34 0 8l | B |FmbEHIR 50/ 0.02) 34 14 0.12
10, B | 797ua—n 30 0.02 34 0 82 | Ml | Fm SV — 50/ 0.1 34 0
11| 8 Y FA4r 8/ 0.08 34 0 83 | ML | T mETF R 1000 0.02| 34 3| 0.09
12 B fYT7xrERR 1| 0.01 34 0 84 ~NJ I 20/ 0.01 34 1 0.01
13| W A4V 7aknrr (MIPC) 10/ 0.02] 34 0 85 | i | ~Nrvrmy 100/ 0.03| 34 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 34 0 86 | B NV TxFuS 40 0.01] 34 0
15 @ A7~k (1BP) 90| 0.02| 34 0 87 | B Ry xYL 2000 0.01| 34 0
16 mE A/ 0800 6/ 0.06] 34 0 88 | Bk N TF 4 ALY v 300/ 0.02] 34 0
17| ® S8 )77 9/ 0.05 34 0 89 | W (N T T INT 40/ 0.05 34 0
18 ¥ =2xSuhrT 30 0.02 34 0 90 | B RUTATYL (RREVY) 10/ 0.02| 34 0
19 TF 4T 2 RA (VT xR A, 6 005 34 0 91 | &V7V?—b 70/ 0.01 34 0

EDDP) 92 | # |HRAFTE— b 30 0,020 34 0
20 | M@ = h7zrFays R 80| 0.05 34 0 93 | W (~wTFAL (wT V) 50/ 0.03 34 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 34 0 94 | T | A= 7wy (MCPP) 50/ 0.01 34 0
22 | mURALT 7Y (RyYVIEY) 10 0.03] 34 0 95 | W[ AV I 30/ 0.01 34 0
23 | M | AF U8R (HFEER) 30/ 0.05 34 0 96 | R | A X TFXF L 60| 0.04 34 0
24 | AVY R brEY 100, 0.02| 34 0 97 | | XFHTF AL (DMTP) 4/ 0.02] 34 0
25 | o XHARA 0.6/ 0.01 34 0 98 | B AFNAKA L 30/ 0.03 34 0
26 | B BTz A ho— 8 0.01] 34 0 99 | M A RI /A bBEY 40/ 0.01 34 32/ 0.13
27 | H AU L (NAC) 50 0.01 34 0 100 ® [ ARY TV 30/ 0.01 34 0
28 | M AT TR R 40/ 0.01| 34 0 101 # A7=Fk&v b 20/ 0.01 34 0
29 | X IR T T 5/ 0.01] 34 0 102 | i A7 m=)v 100, 0.05| 34 0
30| B X273 (ACN) 5/ 0.01] 34 0 103 B €Y x—h 5 0.02) 34 0
31 Xy L 3000 0.1 34 0
32| B sIjnmy 30, 0.05 34 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 34 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 34 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | sEAEYRRA 3 0.02] 34 0 1| B EPNAFY - 0.1 34 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 34 0 2 | B AYX T AR — 0.1 34 0
37 | BTV 40 0.01 34 0 3| B AV TR AFRY - 0.02| 34 0
38 | | vT7 /A (CYAP) 3 0.0l 34 0 4 X = RALT=— ] — 0.03] 34 0
39 | B Yumy (DOMU) 20/ 0.01| 34 0 5 | & |72 AFLY U (AMPA) — 0.5 34 0
40 | YZu~=/L (DBN) 100 0.01| 34 0 6 | 7 |ONP-T 2 /{K — 0.05/ 34 0
41 H [z mEARA (DDVP) 8/ 0.08 34 0 T B | saAEYRALF Y — 0.03| 34 0
42| ¥ (Y7 Iv b 5 0.05 34 0 8 | M HATV I UAXY — 0.01| 34 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 34 0 9 | B |Tx=btuFtrAFI — 0.01| 34 0
44 | B OFFEN 9/ 0.01] 34 0 10| B |72 FAVANEXYR — 0.05/ 34 0
45 | B |vmky FTFL 6/ 0.02] 34 0 11 B |7z FF ANk — 0.02| 34 0
46 | BT~ (CAT) 3 0,02 34 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 34 0
47 | B UAK ALY 20/ 0.01| 34 0 13 B |72 FAoAxY AR - 0.05/ 34 0
48 | VA bxZ—}h 50/ 0.02 34 0 4| W |ZxrFA oA — 0.02| 34 0
49 | B (VAU 30, 0.03 34 0 15| W |72 IRAFXRY - 0.02| 34 0
50 | B PAENL—| 3 0.02] 34 0 16 | W |7oETFRFToE — 0.02| 34 0
51 | hih XA 7Y/ v 5/ 0.01] 34 0 17 B |~I74%F — 0.02) 34 0
52 | MK KA b 800/ 0.01| 34 1/ 0.01
53 | M | F T A 20/ 0.03 34 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03| 34 0 . - R o
55 | Ml FAT 7 F— b AFIL 3000 0.01 34 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 34 0 INEY ST A= 2000 0.01| 34 0
57 | ® T LT AT (MBPMC) 20/ 0.01| 34 0 2 [ hE vV ALTEY 2000 0.03] 34 0
58 | B hUZBEL 6/ 0.01] 34 0 3 HmE Y/ TTTY 600/ 0.1 34 0
59 | i MYz madk (DEP) 5/ 0.05 34 0 4 | HME|7IAMEL 20/ 0.01 34 0
60 |HER U T —L 80/ 0.01| 34 0 5 | M | AXIFKR 20 0.8 34 0
61 | ®W  RUTALTYL 60/ 0.02] 34 0 6 | ME | TYXFIRrE Y 500/ 0.01| 34 0
62 | B 7RI R 30, 0.03 34 0 T W A Tavty 300/ 0.05 34 0
63 | B EXmRRA 0.9/ 0.02] 34 0 8 | B vFamyr 300/ 0.01| 34 0
64 | B EIFTT 4/ 0.02| 34 0 9 | B F=Arnu—i 200/ 0.01| 34 0
65 | ® BTV UR—k (T L—}) 20/ 0.01| 34 0 10 & e TayAFL 300/ 0.01] 34 4] 0.08
66 | EUXFT=UTFAFU 2/ 0.01] 34 0 11| R |7V b T =1 200/ 0.02] 34 0
67 | B BUTFHLT 20/ 0.01| 34 0 12 | B[R XY K (SAP) 100, 0.03| 34 0
68 | M Eo¥or 40/ 0.02] 34 2/ 0.03 13 # | RerrTRYAFL 500/ 0.01| 34 0
69 | hif 74 = 0.5 0.005 34 0
70 |®ER 7 == haFA (MEP) 3 0.02] 34 2/ 0.06
71 | HE = T HLT (BPMC) 30 0.01 34 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01] 34 0 SRR P AR 1 0.01 0. 02
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ERAIES

FPEMH 4 =K
ES 2 VSN -2 S _ (ng/L) (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50/ 0.1 4 0 73 | | 7= hm— 1k (PAP) 7| 0.03 4 0
2 | B O|2,2-DPA (¥ TFHY) 80| 0.8 4 0 T4 | HE T IAR 100, 0. 02 4 0
3 | B |2,4-D (2,4-PA) 30/ 0.02 4 0 75| B | THsu—L 30/ 0.02 4 0
4 | i EPN 4 0.02 4 0 76 | KO THIKR 20 0.02 4 0
5 | L |MCPA 5/ 0.02 4 0 BN 1A=L Pl 20| 0.05 4 0
6 | B TvaTAh 200 0.01 4 0 8| B | TSLFIFru— 50/ 0.02 4 0
7 WM | TET=— b 6 0.8 4 0 9| B |TevI Ry 90| 0.04 4 0
8 | B T RIVU 10/ 0.05 4 0 80 Juraty—iu 50/ 0.01 4 0
9 | B 7T=upkR 3/ 0.03 4 0 8l | B |FmbEHIR 50| 0.02 4 2| 0.04
10, B | 797ua—n 30/ 0.02 4 0 82 | Ml | Fm SV — 50/ 0.1 4 0
11| 8 Y FA4r 8/ 0.08 4 0 83 | ML | T mETF R 100, 0.02 4 0
12 B 4V T7xrERA 1l o.01 4 0 84 ~NJ I 20/ 0.01 4 0
13| W A4V 7aknrr (MIPC) 10/ 0.02 4 0 85 | i | ~Nrvrmy 100 0.03 4 0
14 | wEisk A Y T uF4T5 2 (IPT) 300/ 0.02 4 0 86 | B NV TxFuS 4 0.01 4 0
15 @ A7~k (1BP) 90| 0.02 4 0 87 | B Ry xYL 200/ 0.01 4 0
16 mE A/ 0800 6/ 0.06 4 0 88 | Bk N TF 4 ALY v 300 0.02 4 0
17| ® S8 )77 9 0.05 4 0 89 | W (N T T INT 40| 0.05 4 0
18 ¥ =2xSuhrT 30/ 0.02 4 0 90 | B RUTATYL (RREVY) 10/ 0.02 4 0
19 TF 4T 2 RA (VT xR A, 6 005 4 0 91 | H | Xy V—?— k 70/ 0.01 4 0

EDDP) 92 | H KRRFTE—h 31 0.02 4 0
20 | M@ = h7zrFays R 80| 0.05 4 0 93 | W (~wTFAL (wT V) 50| 0.03 4 0
21 TRYTDTY = (Zr AV =)L) 4 0.02 4 0 94 | B | Aza7w v (MCPP) 50/ 0.01 4 0
22 | mURALT 7Y (RyYVIEY) 10/ 0.03 4 0 95 | W[ AV I 30/ 0.01 4 0
23 | M | AF U8R (HFEER) 30/ 0.05 4 0 96 | R | A X TFXF L 60| 0.04 4 0
24 | AVY R brEY 100, 0.02 4 0 97 | | XFHTF AL (DMTP) 4/ 0.02 4 0
25 | B XHPERR 0.6/ 0.01 4 0 98 | B AFNAKA L 30/ 0.03 4 0
26 | B BTz A ho— 8/ 0.01 4 0 99 | M A RI /A bBEY 40| 0.01 4 4] 0.07
27 | H AU L (NAC) 50/ 0.01 4 0 100 ® [ ARY TV 30/ 0.01 4 0
28 | M AT R R 40/ 0.01 4 0 101 B [ A7=FEv bk 20/ 0.01 4 0
29 | X IR T T 5 0.01 4 0 102 | i A7 m=)v 100, 0.05 4 0
30| B X273 (ACN) 5/ 0.01 4 0 103 B €Y x—h 5 0.02 4 0
31 Xy L 3000 0.1 4 0
32| B sIjnmy 30/ 0.05 4 0 R OB % (ug/L)
33| B ZUARY—] 2000/ 0.5 4 0 N . L BE | R
34| # (yur=hkuz=z>r (ONP) 0.1 005 4 o0 i o A HER ﬁﬂﬂ [EES Eiﬁf SRt
35 | Wz YRA 3/ 0.02 4 0 1| B EPNAFY - 0.1 4 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 4 0 2 | B AYX T AR — 0.1 4 0
37 | BTV 4, 0.01 4 0 3| B AV TR AFRY - 0. 02 4 0
38 | | vT7 /A (CYAP) 3 0.01 4 0 4 X = RALT=— ] — 0.03 4 0
39 | B Yumy (DOMU) 20/ 0.01 4 0 5 | & |72 AFLY U (AMPA) — 0.5 4 0
40 | YZu~=/L (DBN) 10 0.01 4 0 6 | 7 |CONP-T 2 /1K — 0. 05 4 0
41 H [z mEARA (DDVP) 8| 0.08 4 0 T B | saAEYRALF Y — 0.03 4 0
2| ® [P/ Uv b 5 0.05 4 0 8 | M HATV I UAXY — 0.01 4 0
43 H [PRAALK Y (ZFAFARA ) 4 0.02 4 0 9 | B |Tx=btuFtrAFI — 0.01 4 0
44 | B OFFEN 9/ 0.01 4 0 10| B |72 FAVANEXYR — 0. 05 4 0
45 | B |vmky FTFL 6/ 0.02 4 0 11 B |7z FF ANk — 0. 02 4 0
46 | BT~ (CAT) 3/ 0.02 4 0 12| B | Z7=rFA ARV R LRFLR — 0. 05 4 0
47 | B UAK ALY 20/ 0.01 4 0 13 B |72 FAoAxY AR - 0.05 4 0
48 | VA bxZ—}h 50/ 0.02 4 0 4| W |ZxrFA oA — 0. 02 4 0
49 | B (VAU 30/ 0.03 4 0 15| W |72 IRAFXRY - 0. 02 4 0
50 | L PAENL—Fh 3/ 0.02 4 0 16 | W |7oETFRFToE — 0. 02 4 0
51 | hih XA 7Y/ v 5 0.01 4 0 17 B |~I74%F — 0. 02 4 0
52 |HEE XA La 800/ 0.01 4 0
53 | M | F T A 20/ 0.03 4 0 212} 8 (ug/L)
54 | W FATINLT 80| 0.03 4 0 . o R o
55 | Ml FAT 7 F— b AFIL 300/ 0.01 4 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02 4 0 IR IR AN 200/ 0.01 4 0
57 | ® T LT AT (MBPMC) 20/ 0.01 4 0 2 [ hE vV ALTEY 2000 0.03 4 0
58 | B hUZBEL 6/ 0.01 4 0 3 HmE Y/ TTTY 600 0.1 4 0
59 | | FU 2wk (DEP) 5/ 0.05 4 0 4 |HmE| 7T A MEL 20/ 0.01 4 0
60 |HER U T —L 80| 0.01 4 0 5 | M | AXIFKR 2/ 0.8 4 0
61 | ®W  RUTALTYL 60| 0.02 4 0 6 | ME | TYXFIRrE Y 500 0.01 4 0
62 | B 7RI R 30/ 0.03 4 0 T W A Tavty 300/ 0.05 4 0
63 | B EXmRRA 0.9/ 0.02 4 0 8 | B vFamyr 3000 0.01 4 0
64 | B EIFTT 4/ 0.02 4 0 9 | B F=Aru— 200/ 0.01 4 0
65 | ® BTV UR—k (T L—}) 20/ 0.01 4 0 10 & e TayAFL 3000 0.01 4 0
66 | EUXFT=UTFAFU 2/ 0.01 4 0 11| R |7V b T =1 200/ 0.02 4 0
67 | B BUTFHLT 20/ 0.01 4 0 12 | B[R XY K (SAP) 100, 0.03 4 0
68 | M Eo¥or 40| 0.02 4 0 13| # | RerLTRYAFL 500 0.01 4 0
69 | hif 74 = 0.5/ 0.005 4 0
70 |®ER 7 == haFA (MEP) 30 0.02 4 0
71 | HE = T HLT (BPMC) 30/ 0.01 4 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01 4 0 SRR P AR 1 0.01 0. 0 1A

e RIS T, o A B RTEA. B BRELAD R RHEREAA R AR, RR O RRIRFEEEAL. BE Bk, T TR RERT,
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BERERR

HE) IR
TOHEEE L
ES 2 VSN -2 S ___ (ng/L) _ (ug/L)
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1| # |,3-Yraaray (D-D) 50 0.1 12 0 73 | | 7= hm— 1k (PAP) 71 0.03) 12 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 12 0 T4 | HE T IAR 100 0.02| 12 0
3 | B |2,4-D (2,4-PA) 30/ 0.02] 12 0 75| B | THsu—L 30/ 0.02) 12 0
4 | i EPN 40 0.02) 12 0 76 | KO THIKR 20/ 0.02 12 0
5 | L |MCPA 5/ 0.02] 12 0 BN 1A=L Pl 20/ 0.05 12 0
6 | B TvaTAh 2000 0.01 12 0 8| B | TSLFIFru— 50/ 0.02 12 0
7 WM | TET=— b 6 0.8 12 0 9| B |TevI Ry 90| 0.04 12 0
8 | B T RIVU 10/ 0.05] 12 0 80 Juraty—iu 50/ 0.01 12 0
9 | B 7T=upkR 30 0,03 12 0 8l | B |FmbEHIR 50/ 0.02 12 0
10, B | 797ua—n 30, 0.02 12 0 82 | Ml | Fm SV — 50/ 0.1 12 0
11| 8 Y FA4r 8/ 0.08 12 0 83 | ML | T mETF R 100, 0.02| 12 1 0.02
12 B 4V T7xrERA 1 o001 12 0 84 ~NJ I 20/ 0.01 12 0
13| W A4V 7aknrr (MIPC) 100 0.02] 12 0 85 | i | ~Nrvrmy 100/ 0.03] 12 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 12 0 86 | B NV TxFuS 40 0.01] 12 0
15 @ A7~k (1BP) 90/ 0.02] 12 0 87 | B Ry xYL 2000 0.01] 12 0
16 mE A/ 0800 6/ 0.06] 12 0 88 | Bk N TF 4 ALY v 3000 0.02] 12 0
17| ® S8 )77 9 0.05 12 0 89 | W (N T T INT 40/ 0.05 12 0
18 ¥ =2xSuhrT 300 0.02 12 0 90 | B RUTATYL (RREVY) 100 0.02) 12 0
19 TF 4T 2 RA (VT xR A, 6 005 12 0 91 | &V7V?—b 70/ 0.01 12 0

EDDP) 92 | # |HRAFTE— b 3] 0.02) 12 0
20 | M@ = h7zrFays R 80/ 0.05 12 0 93 | W (~wTFAL (wT V) 50/ 0.03 12 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 12 0 94 | T | A= 7wy (MCPP) 50/ 0.01 12 0
22 | mURALT 7Y (RyYVIEY) 100 0.03] 12 0 95 | W[ AV I 30/ 0.01 12 0
23 | M | AF U8R (HFEER) 30/ 0.05 12 0 96 | R | A X TFXF L 60| 0.04 12 0
24 | AVY R brEY 100, 0.02| 12 0 97 | | XFHTF AL (DMTP) 4/ 0.02] 12 0
25 | o XHARA 0.6/ 0.01 12 0 98 | B AFNAKA L 30/ 0.03 12 0
26 | B BTz A ho— 8 0.01] 12 0 99 | M A RI /A bBEY 40/ 0.01 12 2| 0.06
27 | H AU L (NAC) 50, 0.01 12 0 100 ® [ ARY TV 30/ 0.01 12 0
28 | M AT TR R 40/ 0.01 12 0 101 # A7=Fk&v b 20/ 0.01 12 0
29 | X IR T T 5/ 0.01] 12 0 102 | i A7 m=)v 100, 0.05/ 12 0
30| B X273 (ACN) 5/ 0.01] 12 0 103 B €Y x—h 5 0.02) 12 0
31 Xy L 3000 0.1 12 0
32| B sIjnmy 30, 0.05 12 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 12 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 12/ 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | Wz YRA 30,02 12 0 1| B EPNAFY - 0.1 12 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 12 0 2 | B AYX T AR — 0.1/ 12 0
37 | BTV 40 0.01 12 0 3| B AV TR AFRY - 0.02| 12 0
38 | | vT7 /A (CYAP) 3 0.0l 12 0 4 X = RALT=— ] — 0.03] 12 0
39 | B Yumy (DOMU) 20/ 0.01] 12 0 5 | & |72 AFLY U (AMPA) — 0.5 12 0
40 | YZu~=/L (DBN) 100 0.01] 12 0 6 | 7 |ONP-T 2 /{K — 0.05/ 12 0
41 H [z mEARA (DDVP) 8l 0.08 12 0 T B | saAEYRALF Y — 0.03] 12 0
42| ¥ (Y7 Iv b 5 0.05 12 0 8 | M HATV I UAXY — 0.0l 12 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 12 0 9 | B |Tx=btuFtrAFI — 0.01] 12 0
44 | B OFFEN 9/ 0.01] 12 0 10| B |72 FAVANEXYR — 0.05/ 12 0
45 | B |vmky FTFL 6/ 0.02] 12 0 11 B |7z FF ANk — 0.02| 12 0
46 | BT~ (CAT) 30 0,02 12 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 12 0
47 | B UAK ALY 20/ 0.01] 12 0 13 B |72 FAoAxY AR - 0.05/ 12 0
48 | VA bxZ—}h 50/ 0.02 12 0 4| W |ZxrFA oA — 0.02| 12 0
49 | B (VAU 30, 0.03 12 0 15| W |72 IRAFXRY - 0.02| 12 0
50 | L PAENL—Fh 30 0,02 12 0 16 | W |7oETFRFToE — 0.02| 12 0
51 | hih XA 7Y/ v 5/ 0.01] 12 0 17 B |~I74%F — 0.02] 12 0
52 |HEE XA La 800/ 0.01| 12 0
53 | M | F T A 20 0.03 12 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03/ 12 0 . o R o
55 | Ml FAT 7 F— b AFIL 3000 0.01] 12 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 12 0 IR IR AN 2000 0.01] 12 0
57 | ® T LT AT (MBPMC) 20/ 0.01] 12 0 2 [ hE vV ALTEY 2000 0.03] 12 0
58 | B hUZBEL 6/ 0.01] 12 0 3 HmE Y/ TTTY 600 0.1 12 0
59 | i MYz madk (DEP) 5/ 0.05 12 0 4 | HE | 7FAPEL 20/ 0.01 12 0
60 |HER U T —L 80/ 0.01 12 0 5 | M | AXIFKR 2 0.8 12 0
61 | ®W  RUTALTYL 60/ 0.02] 12 0 6 | ME | TYXFIRrE Y 500 0.01] 12 0
62 | B 7RI R 30, 0.03 12 0 T W A Tavty 300 0.05 12 0
63 | B EXmRRA 0.9/ 0.02] 12 0 8 | B vFamyr 300 0.01] 12 0
64 | B EIFTT 40 0.02] 12 0 9 | B F=Arnu—i 2000 0.01] 12 0
65 | ® BTV UR—k (T L—}) 20/ 0.01] 12 0 10 & e TayAFL 300 0.01] 12 1 0.11
66 | EUXFT=UTFAFU 2/ 0.01] 12 0 11| R |7V b T =1 200/ 0.02] 12 0
67 | B BUTFHLT 20/ 0.01] 12 0 12 | B[R XY K (SAP) 100, 0.03] 12 0
68 | M Eo¥or 40/ 0.02] 12 1/ 0.03 13 # | RerrTRYAFL 500 0.01 12 0
69 | hif 74 = 0.5 0.005 12 0
70 |®ER 7 == haFA (MEP) 30 0,02 12 1/ 0.05
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1| # |,3-Yraaray (D-D) 50/ 0.1 6 0 73 | | 7= hm— 1k (PAP) 7| 0.03 6 0
2 | B O|2,2-DPA (¥ TFHY) 80| 0.8 6 0 T4 | HE T IAR 100, 0. 02 6 0
3 | B |2,4-D (2,4-PA) 30/ 0.02 6 0 75| B | THsu—L 30/ 0.02 6 0
4 | i EPN 4 0.02 6 0 76 | KO THIKR 20 0.02 6 0
5 | L |MCPA 5/ 0.02 6 0 BN 1A=L Pl 20| 0.05 6 0
6 | B TvaTAh 200 0.01 6 0 8| B | TSLFIFru— 50/ 0.02 6 0
7 WM | TET=— b 6 0.8 6 0 9| B |TevI Ry 90| 0.04 6 0
8 | B T RIVU 10/ 0.05 6 0 80 Juraty—iu 50/ 0.01 6 0
9 | B 7T=upkR 3/ 0.03 6 0 8l | B |FmbEHIR 50| 0.02 6 0
10, B | 797ua—n 30/ 0.02 6 0 82 | Ml | Fm SV — 50/ 0.1 6 0
11| 8 Y FA4r 8/ 0.08 6 0 83 | ML | T mETF R 100, 0.02 6 1 0.02
12 B 4V T7xrERA 1l o.01 6 0 84 ~NJ I 20/ 0.01 6 0
13| W A4V 7aknrr (MIPC) 10/ 0.02 6 0 85 | i | ~Nrvrmy 100 0.03 6 0
14 | wEisk A Y T uF4T5 2 (IPT) 300/ 0.02 6 0 86 | B NV TxFuS 4 0.01 6 0
15 @ A7~k (1BP) 90| 0.02 6 0 87 | B Ry xYL 200/ 0.01 6 0
16 mE A/ 0800 6/ 0.06 6 0 88 | Bk N TF 4 ALY v 300 0.02 6 0
17| ® S8 )77 9 0.05 6 0 89 | W (N T T INT 40| 0.05 6 0
18 ¥ =2xSuhrT 30/ 0.02 6 0 90 | B RUTATYL (RREVY) 10/ 0.02 6 0
19| @ TF YT 2 URA (BT 2 URA, 6l 005 6 0 91 | &y7yﬁ—b 70 0.01 6 0

EDDP) 92 | H KRRFTE—h 31 0.02 6 0
20 | M@ = h7zrFays R 80| 0.05 6 0 93 | W (~wTFAL (wT V) 50| 0.03 6 0
21 TRYTDTY = (Zr AV =)L) 4 0.02 6 0 94 | B | Aza7w v (MCPP) 50/ 0.01 6 0
22 | mURALT 7Y (RyYVIEY) 10/ 0.03 6 0 95 | W[ AV I 30/ 0.01 6 0
23 | M | AF U8R (HFEER) 30/ 0.05 6 0 96 | R | A X TFXF L 60| 0.04 6 0
24 | AVY R brEY 100, 0.02 6 0 97 | | XFHTF AL (DMTP) 4/ 0.02 6 0
25 | B XHPERR 0.6/ 0.01 6 0 98 | B AFNAKA L 30/ 0.03 6 0
26 | B BTz A ho— 8/ 0.01 6 0 99 | M A RI /A bBEY 40| 0.01 6 2| 0.05
27 | H AU L (NAC) 50/ 0.01 6 0 100 ® [ ARY TV 30/ 0.01 6 0
28 | M AT ERI R 40/ 0.01 6 0 101 B [ A7=FEv bk 20/ 0.01 6 0
29 | X IR T T 5 0.01 6 0 102 | i A7 m=)v 100, 0.05 6 0
30| B X273 (ACN) 5/ 0.01 6 0 103 B €Y x—h 5 0.02 6 0
31 Xy L 3000 0.1 6 0
32| B sIjnmy 30/ 0.05 6 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 6 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05] 6 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | Wz YRA 3/ 0.02 6 0 1| B EPNAFY - 0.1 6 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 6 0 2 | B AYX T AR — 0.1 6 0
37 | BTV 4, 0.01 6 0 3| B AV TR AFRY - 0. 02 6 0
38 | | vT7 /A (CYAP) 3 0.01 6 0 4 X = RALT=— ] — 0.03 6 0
39 | B Yumy (DOMU) 20/ 0.01 6 0 5 | & |72 AFLY U (AMPA) — 0.5 6 0
40 | YZu~=/L (DBN) 10 0.01 6 0 6 | 7 |ONP-T 2 /{K — 0. 05 6 0
41 H [z mEARA (DDVP) 8| 0.08 6 0 T B | saAEYRALF Y — 0.03 6 0
42| ¥ (Y7 Iv b 5 0.05 6 0 8 | M HATV I UAXY — 0.01 6 0
43 H [PRAALK Y (ZFAFARA ) 4 0.02 6 0 9 | B |Tx=btuFtrAFI — 0.01 6 0
44 | B OFFEN 9/ 0.01 6 0 10| B |72 FAVANEXYR — 0. 05 6 0
45 | B |vmky FTFL 6/ 0.02 6 0 11 B |7z FF ANk — 0. 02 6 0
46 | BT~ (CAT) 3/ 0.02 6 0 12| B | Z7=rFA ARV R LRFLR — 0. 05 6 0
47 | B UAK ALY 20/ 0.01 6 0 13 B |72 FAoAxY AR - 0.05 6 0
48 | VA bxZ—}h 50/ 0.02 6 0 4| W |ZxrFA oA — 0. 02 6 0
49 | B (VAU 30/ 0.03 6 0 15| W |72 IRAFXRY - 0. 02 6 0
50 | L PAENL—Fh 3/ 0.02 6 0 16 | W |7oETFRFToE — 0. 02 6 0
51 | hih XA 7Y/ v 5 0.01 6 0 17 B |~I74%F — 0. 02 6 0
52 |HEE XA La 800/ 0.01 6 0
53 | M | F T A 20/ 0.03 6 0 212} 8 (ug/L)
54 | W FATINLT 80| 0.03 6 0 . o R o
55 | Ml FAT 7 F— b AFIL 300/ 0.01 6 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02 6 0 IR IR AN 200/ 0.01 6 0
57 | ® T LT AT (MBPMC) 20/ 0.01 6 0 2 [ hE vV ALTEY 2000 0.03 6 0
58 | B hUZBEL 6/ 0.01 6 0 3 HmE Y/ TTTY 600 0.1 6 0
59 | i MYz madk (DEP) 5/ 0.05 6 0 4 |HmE| 7T A MEL 20/ 0.01 6 0
60 |HER U T —L 80| 0.01 6 0 5 | M | AXIFKR 2/ 0.8 6 0
61 | ®W  RUTALTYL 60| 0.02 6 0 6 | ME | TYXFIRrE Y 500 0.01 6 0
62 | B 7RI R 30/ 0.03 6 0 T W A Tavty 300/ 0.05 6 0
63 | B EXmRRA 0.9/ 0.02 6 0 8 | B vFamyr 3000 0.01 6 0
64 | B EIFTT 4/ 0.02 6 0 9 | B F=Aru— 200/ 0.01 6 0
65 | ® BTV UR—k (T L—}) 20/ 0.01 6 0 10 & e TayAFL 3000 0.01 6 0
66 | EUXFT=UTFAFU 2/ 0.01 6 0 11| R |7V b T =1 200/ 0.02 6 0
67 | B BUTFHLT 20/ 0.01 6 0 12 | B[R XY K (SAP) 100, 0.03 6 0
68 | M Eo¥or 40| 0.02 6 1] 0.02 13 # | RerrTRYAFL 500 0.01 6 0
69 | hif 74 = 0.5/ 0.005 6 0
70 |®ER 7 == haFA (MEP) 30 0.02 6 0
71 | HE = T HLT (BPMC) 30/ 0.01 6 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01 6 0 SRR P AR 1 0.01 0. 0 1A
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1| # |,3-Yraaray (D-D) 50 0.1 12 0 73 | | 7= hm— 1k (PAP) 71 0.03) 12 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 12 0 T4 | HE T IAR 100 0.02| 12 0
3 | B |2,4-D (2,4-PA) 30/ 0.02] 12 0 75| B | THsu—L 30/ 0.02) 12 0
4 | i EPN 40 0.02) 12 0 76 | KO THIKR 20/ 0.02 12 0
5 | L |MCPA 5/ 0.02] 12 0 BN 1A=L Pl 20/ 0.05 12 0
6 | B TvaTAh 2000 0.01 12 0 8| B | TSLFIFru— 50/ 0.02 12 0
7 WM | TET=— b 6 0.8 12 0 9| B |TevI Ry 90| 0.04 12 0
8 | W T hIVU 10/ 0.05] 12 0 80 Juraty—iu 50/ 0.01 12 0
9 | B 7T=upkR 30 0,03 12 0 8l | B |FmbEHIR 50/ 0.02 12 0
10, B | 797ua—n 30, 0.02 12 0 82 | Ml | Fm SV — 50/ 0.1 12 0
11| 8 Y FA4r 8/ 0.08 12 0 83 | ML | T mETF R 100, 0.02| 12 1 0.02
12 B fYT7xrERR 1 o001 12 0 84 ~NJ I 20/ 0.01 12 0
13| W A4V 7aknrr (MIPC) 100 0.02] 12 0 85 | i | ~Nrvrmy 100/ 0.03] 12 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 12 0 86 | B NV TxFuS 40 0.01] 12 0
15 @ A7~k (1BP) 90/ 0.02] 12 0 87 | B Ry xYL 2000 0.01] 12 0
16 mE A/ 0800 6/ 0.06] 12 0 88 | Bk N TF 4 ALY v 3000 0.02] 12 0
17| ® S8 )77 9 0.05 12 0 89 | W (N T T INT 40/ 0.05 12 0
18 ¥ =2xSuhrT 300 0.02 12 0 90 | B RUTATYL (RREVY) 100 0.02) 12 0
19 TF 4T 2 RA (VT xR A, 6 005 12 0 91 | &V7V?—b 70/ 0.01 12 0

EDDP) 92 | # |HRAFTE— b 3] 0.02) 12 0
20 | M@ = h7zrFays R 80/ 0.05 12 0 93 | W (~wTFAL (wT V) 50/ 0.03 12 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 12 0 94 | T | A= 7wy (MCPP) 50/ 0.01 12 0
22 | mURALT 7Y (RyYVIEY) 100 0.03] 12 0 95 | W[ AV I 30/ 0.01 12 0
23 | M | AF U8R (HFEER) 30/ 0.05 12 0 96 | R | A X TFXF L 60| 0.04 12 0
24 | AVY R brEY 100, 0.02| 12 0 97 | | XFHTF AL (DMTP) 4/ 0.02] 12 0
25 | o XHARA 0.6/ 0.01 12 0 98 | B AFNAKA L 30/ 0.03 12 0
26 | B BTz A ho— 8 0.01] 12 0 99 | M A RI /A bBEY 40/ 0.01 12 2| 0.04
27 | H AU L (NAC) 50, 0.01 12 0 100 ® [ ARY TV 30/ 0.01 12 0
28 | M AT TR R 40/ 0.01 12 0 101 # A7=Fk&v b 20/ 0.01 12 0
29 | X IR T T 5/ 0.01] 12 0 102 | i A7 m=)v 100, 0.05/ 12 0
30| B X273 (ACN) 5/ 0.01] 12 0 103 B €Y x—h 5 0.02) 12 0
31 Xy L 3000 0.1 12 0
32| B sIjnmy 30, 0.05 12 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 12 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 12/ 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | Wz YRA 30,02 12 0 1| B EPNAFY - 0.1 12 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 12 0 2 | B AYX T AR — 0.1/ 12 0
37 | BTV 40 0.01 12 0 3| B AV TR AFRY - 0.02| 12 0
38 | | vT7 /A (CYAP) 3 0.0l 12 0 4 X = RALT=— ] — 0.03] 12 0
39 | B Yumy (DOMU) 20/ 0.01] 12 0 5 | & |72 AFLY U (AMPA) — 0.5 12 0
40 | YZu~=/L (DBN) 100 0.01] 12 0 6 | 7 |ONP-T 2 /{K — 0.05/ 12 0
41 H [z mEARA (DDVP) 8l 0.08 12 0 T B | saAEYRALF Y — 0.03] 12 0
42| ¥ (Y7 Iv b 5 0.05 12 0 8 | M HATV I UAXY — 0.0l 12 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 12 0 9 | B |Tx=btuFtrAFI — 0.01] 12 0
44 | B OFFEN 9/ 0.01] 12 0 10| B |72 FAVANEXYR — 0.05/ 12 0
45 | B |vmky FTFL 6/ 0.02] 12 0 11 B |7z FF ANk — 0.02| 12 0
46 | BT~ (CAT) 30 0,02 12 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 12 0
47 | B UAK ALY 20/ 0.01] 12 0 13 B |72 FAoAxY AR - 0.05/ 12 0
48 | VA bxZ—}h 50/ 0.02 12 0 4| W |ZxrFA oA — 0.02| 12 0
49 | B (VAU 30, 0.03 12 0 15| W |72 IRAFXRY - 0.02| 12 0
50 | L PAENL—Fh 30 0,02 12 0 16 | W |7oETFRFToE — 0.02| 12 0
51 | hih XA 7Y/ v 5/ 0.01] 12 0 17 B |~I74%F — 0.02] 12 0
52 |HEE XA La 800/ 0.01| 12 0
53 | M | F T A 20 0.03 12 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03/ 12 0 . o R o
55 | Ml FAT 7 F— b AFIL 3000 0.01] 12 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 12 0 IR IR AN 2000 0.01] 12 0
57 | ® T LT AT (MBPMC) 20/ 0.01] 12 0 2 [ hE vV ALTEY 2000 0.03] 12 0
58 | B hUZBEL 6/ 0.01] 12 0 3 HmE Y/ TTTY 600 0.1 12 0
59 | i MYz madk (DEP) 5/ 0.05 12 0 4 | HE | 7FAPEL 20/ 0.01 12 0
60 |HER U T —L 80/ 0.01 12 0 5 | M | AXIFKR 2 0.8 12 0
61 | ®W  RUTALTYL 60/ 0.02] 12 0 6 | ME | TYXFIRrE Y 500 0.01] 12 0
62 | B 7RI R 30, 0.03 12 0 T W A Tavty 300 0.05 12 0
63 | B EXmRRA 0.9/ 0.02] 12 0 8 | B vFamyr 300 0.01] 12 0
64 | B EIFTT 40 0.02] 12 0 9 | B F=Arnu—i 2000 0.01] 12 0
65 | ® BTV UR—k (T L—}) 20/ 0.01] 12 0 10 & e TayAFL 300 0.01] 12 0
66 | EUXFT=UTFAFU 2/ 0.01] 12 0 11| R |7V b T =1 200/ 0.02] 12 0
67 | B BUTFHLT 20/ 0.01] 12 0 12 | B[R XY K (SAP) 100, 0.03] 12 0
68 | M Eo¥or 40/ 0.02] 12 0 13| # | RerLTRYAFL 500 0.01] 12 0
69 | hif 74 = 0.5 0.005 12 0
70 |®ER 7 == haFA (MEP) 30 0,02 12 2/ 0.06
71 | HE = T HLT (BPMC) 30, 0.01 12 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.0l 12 0 SRR P AR 1 0.01 0. 02
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1| # |,3-Yraaray (D-D) 50/ 0.1 4 0 73 | | 7= hm— 1k (PAP) 7| 0.03 4 0
2 | B O|2,2-DPA (¥ TFHY) 80| 0.8 4 0 T4 | HE T IAR 100, 0. 02 4 0
3 | B |2,4-D (2,4-PA) 30/ 0.02 4 0 75| B | THsu—L 30/ 0.02 4 0
4 | i EPN 4 0.02 4 0 76 | KO THIKR 20 0.02 4 0
5 | L |MCPA 5/ 0.02 4 0 BN 1A=L Pl 20| 0.05 4 0
6 | B TvaTAh 200 0.01 4 0 8| B | TSLFIFru— 50/ 0.02 4 0
7 WM | TET=— b 6 0.8 4 0 9| B |TevI Ry 90| 0.04 4 0
8 | B T RIVU 10/ 0.05 4 0 80 Juraty—iu 50/ 0.01 4 0
9 | B 7T=upkR 3/ 0.03 4 0 8l | B |FmbEHIR 50| 0.02 4 0
10, B | 797ua—n 30/ 0.02 4 0 82 | Ml | Fm SV — 50/ 0.1 4 0
11| 8 Y FA4r 8/ 0.08 4 0 83 | ML | T mETF R 100, 0.02 4 0
12 B 4V T7xrERA 1l o.01 4 0 84 ~NJ I 20/ 0.01 4 0
13| W A4V 7aknrr (MIPC) 10/ 0.02 4 0 85 | i | ~Nrvrmy 100 0.03 4 0
14 | wEisk A Y T uF4T5 2 (IPT) 300/ 0.02 4 0 86 | B NV TxFuS 4 0.01 4 0
15 @ A7~k (1BP) 90| 0.02 4 0 87 | B Ry xYL 200/ 0.01 4 0
16 mE A/ 0800 6/ 0.06 4 0 88 | Bk N TF 4 ALY v 300 0.02 4 0
17| ® S8 )77 9 0.05 4 0 89 | W (N T T INT 40| 0.05 4 0
18 ¥ =2xSuhrT 30/ 0.02 4 0 90 | B RUTATYL (RREVY) 10/ 0.02 4 0
19| @ TF YT 2 URA (BT 2 URA, 6l 005 1 0 91 | &y7yﬁ—b 70 0.01 1 0
EDDP) 92 | H KRRFTE—h 31 0.02 4 0
20 | M@ = h7zrFays R 80| 0.05 4 0 93 | W (~wTFAL (wT V) 50| 0.03 4 0
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